Subskill # 46
Scientific Notation Part I


For problems 1-6, express each number in scientific notation.

1.
824
A.  82.4 x 102

B.  8.24 x 102

C.  8.24 x 10-2

D.  824 x 102
  

2.
16,000
A.  .16 x 103


B.  1.6 x 105




C   .16 x 105 



D.  1.6 x 104
3.  8,400,000 
A.    8.4 x 104



B.  0.84 x 105



C.  8.4 x 106



D.  0.84 x 104
4.  48,000
A.  4.8 x 10 4


B.  0.48 x 107


C.  4.8 x 106

D.  48 x 106
5.  0.006
A.  6.0 x 10-3


B.  0.6 x 10-4


C.  6.0 x 10-4


D.  0.6 x 10-3
6.  0.0039
A.  39 x 10-3


B.  3.9 x 103


C.  3.9 x 10-3

D. 0.039 x 10-3

For problems 7-12, write each number in as a decimal or a whole number.


7.  4.65 x 105
A.  465,000



B.   4,650



C.   4,650,000



D.   0.000465

8.  1.6 x 104 
A.   0.00016




   B.    1,600



     C.    0.0016



     D.  16,000

9. 4.62 x  103
A.  0.00462



B.   4,620



C.   46,200



D.  0.0462

10.  2.6 x 106
A.  260,000


B. 2,600,000


C.  0.0000026


D.  26,000

11. 1.26 x 10-5
A. 126,000


B.  0.000126


C.  0.0000126


D.  12,600

12.  6.4 x 10-3
A. 0.0064


B.  64


C.  6,400


D.  0.00064

Choose the best answer for the problems 13-15.


13. A certain laser-jet printer has a resolution of 600 dots per inch. On a letter size paper (8½  x 11), it will print 33,660,000 dots. Express this number in scientific notation.

A.  33.66 x 106
B.  3.366 x 107
C.  3.366 x 106 

D.  33.66 x 107
14. A numeral is expressed in expanded notation in the following way: (5 x 10-1) + (4 x 10-2)+(3 x 10-3) + (8 x10-4). What is the numeral in standard notation?

A.  5.438

B.  0.05438

C.  54.38

D. 0.5438

15.
  A business formatted a computer printout in scientific notation, as shown below, to save space. (E+04 indicates 104, etc.)


Inventory:  E+O4  8.165


Purchases:  E+03   2.
     

What was the inventory in standard notation?

A.  81,650

B.  816,500

C.  8,165

D. 8,165,000

Answer Key

1.
 B

2.
 D


3.
 C

4.
 A

5.
 A

6.   C

7.   A

8.   D

9.   B

10. B

11. C

12. A

13. B

14. D

15. A
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